
Pre-Calculus - Honors Lesson 76

Homework#76 Answers

From Houghfon- lAifflinPrecolculus 3td Edition

p72A:
14) 0l - lrz (x * 3)2 = t center: 1-3, 1), vertical,

+ l/t6 o=il,b=ib,
' c2 = f, + l/t6 = 5/16, c = 6/4, vertices: (-3, O.5), (-3, 1.5),
foci: (-3, t -16/4r, (-3, t *6/$, osymptotes.-y= 1r2(x+ 3)

15) 9x2-y'-36x-6y*18=O
9x2-36x-y2-6y=-18

9(x" - 4x) - (y'* 6y) = -tB
9(xt - 4x * 4) - (Y" ,6y * 9) = -18 + 36 - 9

9(x - Z)" - (t * 3)2 = 9(.x-212 (y*3)t =t
19

center: (2, -3),'horizontol, o = 1, b = 3, c' = I + 9 = 10, 
" = ffi,

vertices: (1, -3), (3, -3), foci: (2 - {i-O, -3), (2 * {ffi. -3),
osymptotes: Y = -3 + - 3(x - 2)

16) x" - gy'.36y - 72 = O

t{2-9(y2-4y)=72
' xz - g(,t" - 4Y * 4\ = 72 - 36

'x2 - 9(y - 2)2 = 36

#-ry =1

center: (O, 2), horizontol, o = 6, b = ?, cz = 36 + 4 = 4O, c = 2rlT6-,
vertices: (-6, 2r, (6, 2r, foci: (-2{Ti-Q.2), (2^,m, 2'),

asymptotet, 
T = 2x(ll3)x

p72tz
+7) Vz - 4y - 4x = O: porobolc '

48) 4x2'* 3yz + 8x - 24y * 51 = l, ellipse

49) 4yz - Zxz - 4y - 8x - 15 = O: hypirbolo

50) 25xz - lOx - 2@y - tlg = O: porobolo

51) 4x2 * 4y' - 16y * 15 = O: circle


